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Another Look! Practice 10-1
Herman's mother bought 4 tickets to the Use Patterns
circus. Each ticket costs $40. How much to Muiltiply
did she spend on tickets?
1 1
.
Use place-value blocks. Use an open number line.
q l“ 2 N e :
4 jJumps of 40 are 160. 4 x40 =160
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8. Higher Order Thinking For his birthday, Gil got
4 packages of trading cud&ﬂeaheadyhaducatds.
cards did he have after his birthday?
mm

9. Mm mmmm ' 10. Use place-value blocks to find 1 x 70,
on his farm. He plants two types of com, zxm.Smed‘xmm
mnﬁ“ﬂﬁﬂﬁm

50

mmwe
s not grow .ﬂum»w
place-value




use basic facts to help multiply by multiples

You can
of 10.
Find 6 x 40.
640 equals 6 x 4 tens.
6 % 4 tens equals 24 tens.
6% 40 = 240 e R
to solve 2 X 70. -
2x70=2x(7x10)
 2x70=(2xNX]
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9. Use Structure A warehouse has 9 crates.
Each crate has 20 boxes of cereal. How
many boxes of cereal does the warehouse
have? Explain how to use properties to
solve the problem.

180 boxes of cereal; Sample answer:
9% 20=9x{2x10]
9x20=9x2x10

9x20=18 x 10

9% 20 = 180

10. Hank rents 9 cases of plates. He has
250 guests attending the banguet. There
are 30 plates in each case. Did Hank rent
enough plates? Explain.
Yes; 30 x 9 = 270; 270 > 250

11, 3224=_8
List two other facts that belong to the
L - 32:8=14;
i§x8=32

12. Algebra Kelsey writes the equation
6% 7 = 180. What value makes Kelsey's

13. Josie bikes 40 miles each month for
5 months. She multiplies 40 x 5. What

ormonths? Explain. -
Miles; The product is how many
‘miles Josie bikesinall.

~ unitshould she use for the product: miles |
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Another Look! Practice 10-4
Find the missing products in the table. Look For and Use
Structure

Tcﬂibuywmmbwofstnmtuutosoln
this problem.

. 1¢an Jook for things in common to find a pattern.
. 1 can describe the patterns | find.

- jcan extend a pattern.
w.ﬁtﬁk.ﬂllnkabotansorpw
you know.

%F@vxfg'mwﬂ )80 | 210 | 240 | 270
o1 10 160 | 200 | 240 | 280 | 320 | 360
50| 100 | 150 [ 200 | 250 | 300 | 350 | 490 | 450

One factor Is always a multiple of 10. | used patterns | know for
multiplying by multiples of 10to find each missing factor.

Use Structure
msmmrmﬂmm > i ave
either 10, 20, 30, or 40 beads. Clifton starts the table below o fir '

\mber of beads he will need if he makes 6, 7, or 8 of

oy







